GRI R —:
{83 roslab0 Hif talker.py, EHERGSTSRBANARLHIEE, MFRREFTE
EHE.

[iZ7]:
SR TEN A BRIESERF:

if rospy.has param('~rate'):

ra = rospy.get param('~rate')
else:

rospy.logwarn ("no parameter given; using the default value %d' %ra)
rate = rospy.Rate(ra)

BTN TESHTTA:
% rosrun roslabO0 talker.py _rate:=50

> -

ZE{REY roslab0 THEEBEY scripts FEFEH, MA—MHHNEE Python BFMT, wEA
param.py.

#!/usr/bin/env python

"""Just testing parameter mapping."""

import rospy

rospy.init node ("param")

print (rospy.get param("foo"))

print (rospy.get param("bar"))

print (rospy.get param("~baz"))

SEE: b4k, foo, bar AL RS, M~baz M AT E param IFAE S,
BWANGE, TESICHELEFBEMYESATHMIT. (chmod +x param.py, REH Is &, X
ZHABTAZE, AT python 3XH)




HEA launch FHZE, WA TAE launch X, %Ak param.launch,

<launch>

<node name="param" pkg="roslab0" type="param.py" output="screen">

<remap from="bar" to="foo" />

<remap from="~baz" to="foo" />

</node>

</launch>

AR £RTRESE. remap REEBIHREE.
HEHLITET:
% rosparam set foo 42
&EE foo SHBEMT 7T —ME:
% rosparam get foo
BT R:
% roslaunch roslab0 param.launch
REEE, ZASEISBRRE R foo HIE.
BE:
[BEEE £i=1T ROS Master]
% rosrun turtlesim turtlesim_node
A —1T58REO.
% rostopic list

REFBE—RIEE, FRF—ISENESEHHEXIERE /turtlel/cmd_vel, FEERZA
/emd_vel B9iEEA

RH—M@LTHESMT, KIS REF:




% rostopic pub -r 10 turtlel/cmd_vel geometry_msgs/Twist "{linear: {x: 0.1, y: 0.0, z: 0.0}, angular: {x: 0.0, y: 0.0, z: 0.0}}"

3% Ctrl +¢ 1BH.

WE, FRATHGSTT:

% rostopic pub -r 10 /cmd_vel geometry_msgs/Twist "{linear: {x: 0.1, y: 0.0, z: 0.0}, angular: {x: 0.0, y: 0.0, z: 0.0}}"

S5RAiEm), HMEE. FREME, ERSAEXFWHSNITELEE.



